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PART A

Did the boys turn —— for football practice?
Up (B) On

(C) Back D) In

His manners —— him.

(A) Speak (B) speak for
(C) speakout @ Speak of

When we get ready for dinner, I have to take my books

(A) of (B) from
(©) oft D) out
You must be back —————— four o’clock.
by (B) in
(C) to (D) for

Synonym of mellow-

A) melodious genial

(C) dramatic ) fruity

Antonym of acquitted

(A) jailed () exonerated
(C) accused convicted
He is too miserly to part —————— his money.

(A) from @ with

(C) to (D) in

Which word does not belong with the others?
(A) wing (B) fin
beak (D) rudder

the table.
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10.

11.

12.

13.

14.

15.

The union leader was very critical —— the attitude of the management.

(A) for
(B) at
(C) on

of

I congratulated Seeta —— her success in the examination.

on (B) by

(C) in (D) with

Yesterday Geetha ——— school early to receive her parents at the railway

station.

(A) went

(B) entered
left

(D) delayed

People from ——— and near came to see the final match of the

tournament yesterday.
(A) distance (B) long

(C) above far

Read the sentence and find out grammatical/idiomatic error in it.

(4)
to attend the meeting / scheduled to be held this afternoon
(€) D)

The Headmaster of the school / along with other tiﬂ.achers are coming /

One who looks on the bright side of things-

(A) pessimist optimist

(C) infallible (D) hypocrite

Find the correctly spelt word.
(A) maintainance (B) maintaince

(C) mentaince (D)) maintenance
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16.

17.

18.

19

20.

21.

22,

23.

PART B

&TIDITEEHIY ‘& 606N & evT g‘;]g)tr_'sg;mr'r’ GTEOT LOGHTGITIT LIMTTL_Ig UIGUIT

A)  idepi < etremrT ) sBeng Gufwmt

(C) pmeyredl (D) ul@®sCaren QpursT
G BLod@ Qawwb Shiens QuTnsssCsmdeag DG LD.
(A)  euby (B S

(C) <L &sd Qumenm

Qeb@omdl — Gflsg TS HepL_LiLig)

(A) Q&b+ Qomy Qg1bento + Qo
(C) Q&+ Awmy (D) Qs + QoA

FTTQL(PSSIS5ET THSMET UenSLILI(HILD?

10 (B) 30

€ 12 D) 18
2_GT(@HEUS)] GTEVEVITLD 2 WITELETET6) LOMHMGI STl a(Ld

gerereLo Higg) (B) seralaibd Bigs
() prsrel@mHb D) eaupg 2 wisg

QuEmenLo + eumaid eTarLens Caisg)l er(pss el g
(A)  Qumeneurend QL(BeUTELD
(€) Qumbeuresd (D) GupsearL ergla|Sloame

Qureneullen Gaeeie eremm Hreuena TG WTT?
(A) s wie (B) aaunpss
(C) umigsenyd Gend)

wewtlGosame sridwigden <pdflwm

A) @ermCsmeulg ser EFsHanen FTHSETIT
(C) @l gmsgen D) sQeor
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24.  Syr @O benL SMmHeugl 6TF?
A)  @Gewrbd, GOHOD (B) Qupenw, Smenio
SLTTWITEHLD, gL (HGeD (D) mrmen, CuenTmenLo

25.  ‘srewCumgib s ugsSHE sTaCeuam(Hd — ETEDET STOUQID SWOD LETHS
GousGouam(hid” eTerm) s blem —
A)  Qumerslssemmi (B) @ermigyemi
FFS G TETIH S (D) unpdlsrsen

26. swumgmbd Qupdlw srellwgdnE QL Cuwm
A) Qoo sTens ©)TTLD SBEUSTTLD
(C) @umw sfsbd (D) @umwo yyrewTid

27.  endlgdHu sismLs elmgQubDD &7, efler mrev erg)?

CamueeLTES Lo&EET (B) wmrwiomer
(©) sfgasr® shzrs (D) sibgwmen pruSST

28.  ‘eligend — Qame mD QuTEHET WTg?
(A)  Fsbd (B) wdlpss

HEUMHE (D) es&sw0

29. SpssaTLcupmieT er_meflem LenL Ll eTgl?
A)  Hmbeubumanay (B) dmwreame
(C)  Hmeumi Qumf prEfwmt Hm@womgl

30. eumgw Lulenyd serLCumr Qgeeamid aumg Gere udlemme @aetsCs/@bs LM aurfl
@Lb@upmyeTer Fred HmIDd FMwiT QL eremes?

(A)  urgpeTalsusLD, LTFSwNT

(B) usgiurl @), QumEsSlSseTTT

(C) prenveafssiqams, ederbddl praem
SpeumLum, @yoadlhis g SaTmT
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31.

32.

33.

34.

PART C

If your weight on earth is 60 kg, what will be your weight on the moon?

@A) 5Kg 10 Kg

(C) 15Kg D) 20 Kg
Llulled 2 erenienLw erenL 60 HCereuns @pHETe, Hloale o e i erapL cTarar?

(A) 5 HCardlymd \ (B) 10 £Caordlymid
(C) 15 HCerdlgmbd (D) 20 £CGordlymbd

Sericulture is

Silk cultivation (B) Fish cultivation
(C) Fruits cultivation (D) Milk production

Qef&saar eTemLg

A  ul® euerrliy (B) e cuariiLy
(C) v esariiiy (D) ure 2 HLSH

When did the Constitution of India come into effect?

26.01.1950 (B) 15.08.1947

(C) 26.01.1947 (D) 15.11.1950
QB Sirflweebiy &L Ib eTlGLTE SHDEES aUbSS?

(A)  26.01.1950 (B) 15.08.1947
(C) 26.01.1947 (D) 15.11.1950

Who among the following appoints the Governor of the states in India?

(A) Prime Minister (B) Parliament
@ President (D) Rajya Sabha Chairman
Epsain_auisafld Wt @pHwiredd o erar orHleomisaf @by HLBEATT?
A)  dysw oHAHM - (B) umpmepenpid
C)  ©rwurs gmeeur D) e seaaur
7 MHAP 1746
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35.

36.

317.

Who is the current RBI Governor?

Shaktikanta Das (B) Deshmukh
(C) Raghuram (D) Uryjit Patel

Aaieu euridluler sHGCLTESW SeuiesT wimi?
(A)  g&8 smemTLT HT6 (B) Ggevws

(C) rErmb (D) ol ulGre

Who is the first recipient of Nobel Prize for literature in Asia?

Rabindranath Tagore

(B) Sarojini Naidu
(C) Satyajit Ray
(D) Raman

< Auwrede QesSHusHpers (pgaripsald Grme LiMe QuUDDeT wimT?
@) yelpdrprs sreat

B Cprhen prwy®

(€)  ssdwgs ymi

(D)  pmwer

When was the Non Co-operation Movement launched?

@A) 1919 1920

(C) 1922 (D) 1942
GICLINE) RESIMWITELD QWSS HTDASHILLLS)?

A) 1919 (B) 1920
(C) 1922 (D) 1942

MHAP 1746 8



38.

39.

40.

A man 1s walking at a speed of 10 kmph. After every km, he takes a rest for
5 minutes. How much time will he take to cover a distance of 5 km?

(A) 60 minutes 50 minutes

(C) 40 minutes (D) 70 minutes

@ wallsg 10 HComblLiT Caussdd e pum BLsHamm. geGeumm SCeombL L
sLpgenert e 5 BB gule| a@sfpri. 5 HComdlLr siyb sL&s <eur

ereucuene] Crw eT(hEg&0smeTalmi?
A) 60 HALD (B) 50 HllLib
(C) 40 flslLib (D) 70 HLALLb

Jitu Rai is associated with which sports?

(A) athletics (B) football
(C) wrestling shooting

e edlenarim’_(HL e GSTrml QST MLenL_wieui?
A)  sLgerGumliig (B) smeoupbsTL LD

(C) wewyssb D) ghiursd &Hge

Fresh sugarcane contains 84% water. Dried sugarcane contains 28% water.
How many kgs of dried sugarcane can be obtained from 90 kg of fresh

sugarcane?
@) 10 @ 20
(C) 35 D) 72

Lgis@mby 84 #56is semateany Gsmeamphererg). 2 ibs s@Hby 28 sg6is sere ey
Qaneam(hererg. 90 HCom erepLwjamer LgIsmbLIAO(HHS ereuetatey HCom 2 wibs
SHenL GlLD (PIgU{LD?

(4) 10 B) 20

(C) 35 (D) 72
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41. Match the following :

(a) Hockey 1. 7 players

(b) Volleyball 2. b5 players

(¢) Basket ball 3. 6 players

(d) Kabadi 4. 11 players
@ ® © @

A) 1 2 3 4

(B) 3 4 2 1

©+ s =2 1

D) 2 i 4 3

SpsemLeunenm QUITHSSIS :

(@) ann&s 1. 7 &dyiser

(b) eslubBs 2. b5 &iprser

() smenLLiLpg 3. 6 &dyser

(d) sug 4. 11 &Sprger

@ ® © O

A 1 2 3 4
B) 3 4 2 1
©C) 4 3 2 it
(D) 2 1 4 3

42. Who gave the title of Father of Nation to Mahatma Gandhi?

Subhas Chandra Bose (B) Jawaharlal Nehru
(C) Vallabhai Patel (D) Mountbatten

waTELT &MHHEE Cassdan sHhans eramm WMt LL LD CerhesTT?
Q)  sureysbSrGuTen (B) seuanteme Grm

(C) auveoumi L’ GLev (D) weyen_ GuL_L e
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43.

44,

45.

What is unit of temperature in the S.I system?

(A) centigrade kelvin
(C) rumen (D) fahrenheit

6Ta.gg3. (pepmulled o arer Qeuligdlen e eTemen?
Q) QseangHCrL. (B) Qsselen

(C)  emwer (D) unyead

Rainfall is decreasing due to

afforestation (B) industrialization

. global warming (D) pollution
OEDLY GBDEUSDSETE SITFETLD ?
A) 1@ euerriiy (B) Qsmflewwiorge

(O  2asQaulLwwwrses (D) wreuhse

A boy could do 1/7t part of some work in 6 days. The number of days he would

take to do 0.5 part of the same work is

(A) 42 days 21 days
(C) 11 days (D) 6 days

@@ Ffneer do Ceumeoular 1/7 Lgdow Caiig wiqds 6 Briger <%dlng. 2iGs

Couemaverws 0.5 LGderws et Qeiu eTeleu6Te BT _S6T G0 ?
(A) 42 prlser B) 21 priser

(C) 11 priser (D) 6 prser -

11 MHAP 1746
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46.

47.

A man bought a saree for Rs. 546, after getting a discount of Rs. 104 on its

marked price. The percentage of discount given to him was

@ 16% (B) 15%

C) 18% D) 20%

o Comanila siflé @i iul L daauildbs erumis 104 ger@puly. Gums,
BUIT epUTl 546-5@ 2ibg GCaamaenw QUM GITTIT. DIEU(HES CTEUCUETE FHEUS SETEHLIlY

QarH&siuLg?
(A) 16% B) 15%
(C) 18% (D) 20%

Arrange the following in the increasing order of their size :

Karnataka, Kerala, Tamil Nadu, Telangana

Kerala, Telangana, Tamil Nadu, Karnataka
(B Kerala, Tamil Nadu, Telangana, Karnataka
(C) Kerala, Telangana, Karnataka, Tamil Nadu
(D) Karnataka, Tamil Nadu, Telangana, Kerala

EDEEENLGUDHEND DISET DETEn6L HEIST) GuaCGpradl auflensili(HESIS.
siprLsm, Cayert, SODHIE, SaiBisTETT

(A)  Garyerm, QpgymisTe, SOLBTEH, STHTLST

(B)  Gaperr, s0DBETE, Qs@UEsTEN, STHTL&T

(C)  Gararr, Osaiiisre, STBTLET, SOLHTO

D) sipTsT, SODETH, Cs@msTeT, Gayerm

MHAP 1746 12 A



48.

49.

50.

Which of the following is not a browser?

anilroid (B) firefox

() chrome (D) safari

EpsaTcunbled ergl 1976 st @eranen?
A) e gmi® (B) uwwrursen

©  ©Cymb D) sumf

What is the maximum (sanctioned) strength of Supreme Court including the
Chief Justice of India?

B) 31
(D) no limit

2 55 pgloemn smamwo fHudamu o e 8 o seBfoem SHudsafar arameafsms

CTEUGUGTEY?
(A) 26 B) 31
C) 34 (D) eupbQevene
The 1s considered as the ‘network of networks’.
@ internet (B) satellite network
(C) local area network (D) metropolitan area network

QB eurdlen QBL_6UITd 6TeiTLIg)
A) QariQpl B) Geslymer Qpleuiis

(O Caorssd gilur QpLeurrs D) Qi Cprured_en glwr QpL_euis

13 MHAP 1746
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51.

52.

53.

54.

55.

56.

PARTD
Execute a command as another user in Linux?

(A) Who (B) Tty

(C) Chmod Sudo

Online content that is not indexed by search engines is called
(A) Disconnected web (B) Private documents
(C) Hidden documents . Deep web

What is a long-term scheduler?
It selects which process has to be brought into the ready queue
(B) It selects which process has to be executed next and allocated CPU
(C) It selects which process to remove from memory by swapping
(D) None of these

The process of building new classes from existing one is called
(A) Structure ‘ Inherltance
(C) Polymorphism (D) Template

Personal Area Network is a network arranged within an individual person,
typically within a range of

. 10 meters (B) 20 meters

(C) 40 meters (D) 30 meters

What do you use the Aux port for?
(A) Console (B) Terminal editing

@ Modem (D) Backup logging

MHAP 1746 14 A



57. and are the two issues of Requirement Analysis.

(A) Performance, Design
Stakeholder, Developer
(C) Functional, Non-Functional

(D) None of the mentioned

58. MIME stand for
(A) Multipurpose Internet Messaging Extension
Multipurpose Internet Mail Extension
() Multipurpose Internet Media Extension
(D) Multipurpose Internet Mass Extension

59 The statement that is executed automatically by the system as a side effect of
the modification of the database is

(A) backup (B) assertion

(C) recovery trigger

60. When do you stop testing in software development?
(A) The faults have been fixed

(B) All the tests run

(C) The time completed

@ The risk is resolved

61. Select the tag which is used to mark a beginning of paragraph
(A) <TD> B) <br>
@ <p> (D) <TR>

A 15 MHAP 1746
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62. The technology that is not used by Ajax 1s
(A) JavaScript
(B) XMLHttpRequest
(C) Document Object Model

Flash

63. Out of the following which one is a Software Testing tool?
(A) Rational Rose
(B) Oracle

@ Win Runner

(D) Linux

64. What is the output message displayed when you execute the applet of the
following Java program?
import java.awt.*;

import java.applet.”;

public class myapplet extends Applet

{
public void paint(Graphics g)

{
g.drawString("A Simple Applet", 20, 20);

}

¥
A Simple Applet

(B) A Simple Applet 20 20
(C) Compilation Error
(D) Runtime Error

MHAP 1746 16 A



65. Half duplex Ethernet operation is

(A) Half Duplex Ethernet technology provides a transmit circuit connection
wired directly to the receiver circuit at the other end

(B) Half duplex transmission between stations is achieved by using point to
multipoint Ethernet and Fast Ethernet

@ With Half Duplex transmission logically circuits feed into a single cable

creating a situation similar to a one way bridge

(D) Half Duplex transmission between stations is achieved using Point to

Point Ethernet & Fast Ethernet

66. What does a directed arc or line signify?

@ Data Flow (B) Data Process
Data Stores (D) None of the above

67. Servlets are used to program which component in a web application?

(A) client server

(C) tomcat (D) applet

68.  Which of the following code is used to get an attribute in a HTTP Session
object in servlets?

| session.getAttribute(String name)

(B) session.alterAttribute(String name)
(C) session.updateAttribute(String name)

(D) session.setAttribute(String name)

A 17 MHAP 1746
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69. Which of the following is true regarding PostgreSQL?
(A) PostgreSQLis a powerful
(B) PostgreSQL is open source
(C) PostgreSQL 1s object-relational database system

All of the above

70. Identify the correct syntax for referring the external style sheet?
(A) <style src = example.css>
(B) <style src = "example.css">
(C) <stylesheet> example.css </stylesheet>
<link rel="stylesheet" type="text/css" href="example.css">

71. The incorrect Python declaration is
(A) xyzp = 5,000,000
x y z p = 5000 6000 7000 8000
( x,y,z,p = 5000, 6000, 7000, 8000
D) x_y_z p=5,000,000

72. Gutter margin is
(A) Margin that is added to right margin when printing
(B) Margin that is added to the left margin when printing
(C) Margin that is added to the outside of the page when printing
Margin that is added to the binding side of page when printing

73. Supports Web Services Testing
(A) Selenium (B) SilkTest

(C) Postman ALM

MHAP 1746 18



74. The following are the features of Content Management System (CMS)
(A) Content Creation and Storage (B) Workflow Management
(C) Publishing @ All of the above

75. From the following which is not a web hosting company?
(A) Hostgator (B) Blue Host
(C) WPX Hosting Facebook

76. What will be the output of the following Java code?
class overload
{
int x;
double y;
void add(@int a , int b)
{
X=a+b;
b
void add(double ¢, double d)
{
y=c+d;
}
overload()
{
this.x = 0;
this.y = 0;
}
i

class Overload_methods

{

public static void main(String args[ ])
{
overload obj = new overload();
mt a = 2;
double b = 3.2;
obj.add(a, a);
obj.add(b, b);
System.out.println(obj.x + " " + obj.y);
}
}
(A) 66 (B) 6.46.4
(© 646 (D) 46.4

A 19 MHAP 1746
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77.

78.

79.

Arrange the steps in order to represent the conducting of Wideband Delphi
Technique.

1. Conduct a group discussion

1. Conduct another group discussion

1i1. Present experts with a problem

iv. Collect expert opinion anonymously

v. Iterate until consensus is reached

vi. Feedback a summary of result to each expert

(A) 1,11, 11, 1v, Vv, Vi (B) 1, 1,11, 1v, v, vi

(C) 1,1, 11, iv, vi, v 111, 1, 1v, Vi, 11, v

The difference between servlets and applets is

1.  Servlets execute on Server; Applets execute on browser

1. Servlets have no GUI; Applet has GUI

iil. Servlets creates static web pages; Applets creates dynamic web pages

iv.  Servlets can handle only a single request; Applet can handle multiple

requests
(A) 1,11, 11 are correct 1, 11 are correct
(C) 1,111 are correct (D) 1,11, 111, iv are correct

Which tag should be used to pass information from JSP to included JSP?
Using <%jsp:page> tag

() Using <%jsp:param> tag

(C) Using <%jsp:import> tag

(D) Using <%jsp:useBean> tag

MHAP 1746 20 A



80.

81.

Table A

Id Name Age
12 Arun 60
15 Shreya 24
99 Rohit 11

Table B

Id Name Age
15 Shreya 24
25 Hari 40

98 Rohit 20

99 Rohit 11

Table C

Id Phone Area
10 2200 02
99 2100 01

Consider the above tables A, B and C. How many tuples does the result of the
following SQL query contains?

SELECT A.id

FROM A

WHERE A.age > ALL (SELECT B.age FROM B

WHERE B.name = "arun")

@ 4
© o0 D) 1

PostgreSQL runs on :
all major operating systems, including Linux, UNIX (AIX, BSD, HP-UX,
SGI IRIX, Mac OS X, Solaris, Tru64), and Windows.
(B) on all UNIX versions except Solaris.
(C) Linux and Windows only.
(D) Windows only

21 MHAP 1746
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82.

83.

Hex Code format of CSS colours :

(A) This is a shorter form of the six-digit notation.

(B) In this format, each digit is replicated to arrive at an equivalent six-digit
value.

!

(C) Each hexadecimal code will be preceded by a pound or hash sign '#

All of the above.

Study the following Python program
class Std_Name:
def _init_ (self, Std_firstName, Std_Phn, Std_lastName):
self.Std_firstName = Std_firstName
self.Std_PhnStd_Phn = Std_Phn
self.Std_lastNameStd_lastName = Std_lastName

Std_firstName = "Wick"

name = Std_Name(Std_firstName, 'F', "Bob")
Std_firstName = "Ann"

name.lastName = "Nick"

print(name.Std_firstName, name.Std_lastName)

What will be the output of this statement?
(A) Ann Bob

(B) Ann Nick

(C) Wick Bob

@ Wick Nick

MHAP 1746 22 A



84. The given Query can be replaced with

SELECT name
FROM instructorl
WHERE salary <= 100000 AND salary >= 90000;

(A) SELECT name
FROM instructorl
WHERE salary BETWEEN 100000 AND 90000

(B) SELECT name
FROM instructor |
WHERE salary BETWEEN 90000 AND 100000;

(C) ) SELECT name
FROM instructorl
WHERE salary BETWEEN 90000 AND 100000;

(D) SELECT name
FROM instructor!
WHERE salary <= 90000 AND salary >=100000;

85. The processes that are residing in main memory and are ready and waiting to
execute are kept on a list called:
(A) job queue
ready queue
) execution queue

(D) process queue

86. Which of the following operation is used if we are interested in only certain

columns of a table.

PROJECTION (B) SELECTION
(C) UNION (D) JOIN

A 23 MHAP 1746
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87. Which of the following statement is true?
DELETE does not free the space containing the table and TRUNCATE
] free the space containing the table.
(B) Both DELETE and TRUNCATE free the space containing the table
(C) Both DELETE and TRUNCATE does not free the space containing the
table
(D) DELETE free the space containing the table and TRUNCATE does not

free the space containing the table

88. DNS Stands for
Domain Name System
() Dynamic Network Service
(C) Domain Network Service

(D) Domain Network System

89. In Java, declaring a class abstract 1s useful
(A) To prevent developers from further extending the class

When it doesn’t make sense to have objects of that class
(C) When default implementations of some methods are not desirable

(D) To force developers to extend the class not to use its capabilities

90. Which class or interface defines the wait( ), notify( ),and notifyAll( ) methods?

@ Object (B) Class

(C) Runnable (D) Thread

MHAP 1746 24 A



91. Which of the following operation cannot be performed on a Python string?
(A) Deleting (B) Splitting
@ Adding (D) Reassigning

92. The order in which test levels are performed is
(A) Unit, integration, acceptance, system
(B)  Unit, system, Integration, acceptance
(C)  Unit, integration, system, acceptance

It depends on the nature of the project

93.  The rule that a value of 1 foreign key must appear as a value of some specific

table is called a
@ Referential constraint (B) Index
(C) Integrity constraint (D) Functional dependency

94. How can you make an email link in htm]?

(A)  <mail href +=xxx@y.com>

<a href = “mail to : XXX@y.com”>

(C)  <a href = xxx@y.com>

(D)  (B) and (C)

95. Which of the following is not a JSON type?

date (B) Object

(C) Array (D) String

A 25 MHAP 1746
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96. Create table student(name varchar, id integer) What type of statement is this?

(A) DDL @ DML
(€) Query D) SQL

97. What is the size of the host bits in class B of IP address?

(A) 8 16

©) 64 D) 32

98. In Java Iterator, has MoreElements() method of Enumeration has been

changed to :
(A) hasNextElement() (B) isNext()
@ hasNext() (D) name remains same

99. Which method causes the audio clip to replay continually?

(A) public void replay()

public void loop()

(C) public void continue( )

(D) none of the above

100. What will be the output of following Python code snippet?

for iin range(0, -2, —1): print(i)

0-1 (B) 01,1
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101. Which of the following is incorrect?
(A) X=0b101 (B) X=0x4f5

(€) X=19023 X=03964

102. Which one of the following property scopes is not supported by PHP?

@ friendly (B) final
(C) public (D) static

103. A denial of service attack is
(A) does not have to occur over a network
(B) can erase an entire website
@ is an intentional attempt to overload a web server or web site
(D) all of the above

104. A graphical technique for finding if changes and variation in metrics data are
meaningful is known as
(A) DRE (Defect Removal Efficiency)
(B) Function points analysis

@ Control Chart

(D) Control Flow Chart Inspection

105. Static analysis can be best described as
(A) Reviewing of test plans () Analysis of batch programs
(C) Use of black box testing Analysis of program code

106. You should choose sleep option when
(A) The computer is tired after working for the whole day
(B) When you computer gets hanged frequently
(C)) You are leaving for a very short time and want to resume you work
shortly
(D) You finish your work and go to sleep
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107. Which-one of the following statements about normal forms is FALSE?

(A) BCNEF is stricter than 3 NF
(B) Lossless, dependency — preserving decomposition into 3 NF is always
possible
@ Loss less, dependency — preserving decomposition into BCNF is always
possible
(D) Any relation with two attributes is BCNF

108. An instance of relational schema R (A, B, C) has distinct values of A, including

109.

110.

111.

NULL values. Which one of the following is true?
(A) Combination of Union and Cartesian product
@ A is not a candidate key

( A is primary key

(D) Both (A) and (C)

Assume that an HTML form is designed to purchase the furniture. All the
items required are being checked. After selecting the items the payment
details are entered and the submit button is pressed. From the following
options which one would you prefer to send the data to the server. Assume
that all the security is handled.

(A)  Only POST

(B) Only GET
Either GET or POST
(

) Neither GET nor POST

A new web browser window can be opened using which method of the window
object? :

(A) Createtab() Window.open()

(C) Open() (D) All of the above

Which statement(S) is/are incorrect?

(A) Stored procedure may return a value and function must return a value
(B) Function has only IN parameter

@ Try and Catch can be used with both stored procedure and function
(D) Stored procedure has IN and OUT parameter
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112. Which three situations might require multiple routing protocols in a network?
(a) When a new Layer 2-only switch is added to the network
(b) When you are migrating from one routing protocol to another
(c) When you are using routers from multiple vendors
(d) When there are host-based routers from multiple vendors
@ @, ©, @ ), ©), @
©) (@), ®), (d) (D) (a), (b), ©

113. Which kind of undesirable factors are generated due to an acknowledgement
process of transmission and reception of messages in any reliable services?
(a) Overheads
(b) Delays
(¢) Errors
(d) Interference
(a) & (b) B ) &©
€) (&) D) () & (d)

114. Which Map class in Java should be most popular in a multi-threading
environment, considering performance constraint?
(A) Hashtable @ CopyonWriteMap
(C) ConcurrentHashMap (D) ConcurrentMap

115. Which of the following is/are the right way to declare a method?
() function functionName() { function body }
(ii) scope function functionName() { function body }
(iii) method methodName() { method body }
(iv) scope method methodName() { method body }

(A) Only (1) (B) Only (iv)
(1) and (i1) (D) (@i1) and (v)

116. Which of the following is not a white box technique?
' State transition testing (B) Path testing
(C) Statement testing (D) Data flow testing
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117. The types of communication media used to connect different computers of a
network are
(A) Physical wires
(B) Wireless media like RF (Radio Frequency) devices

Both (A) and (B)

(D) None

118. Banker’s algorithm is used
@ To prevent deadlock (B) To deadlock recovery
(C) To solve the deadlock (D) None of these

119. Which of the following is known as the generic class?
(A) Final class Template class
(C) Abstract class (D) Efficient code

120. XML digital signatures provides
Authentication (B) Authorization
(C) Integrity (D) Confidentiality

121. String testing is another name for
(A)  Unit testing Integration testing
(C) Manual testing (D) Atomation testing

122. Javascript classes can be initiated using which operator?

(A) create new

(C) instantiate (D) Create.new

123. Which of the following css properties can be used to align an element
horizontally & vertically?
(A) align-items: center; display: block;
(B) text-align: center; align-items: center; display: flex;
(C) align-items: center: text-align: justify;
@ justify-content: center; align-items: center; display: flex
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124.

125.

126.

127.

128.

129.

130.

Which of the following protocol the Webservice supports?

) HTTP (B) HTTPS
(C) TCP/IP (D) FTP
Python is not a language.
(A) Extensible B Object-Oriented
(C) Dynamically typed @) Compiled

Which of the following ACID property ensures that multiple transactions can
occur concurrently without leading to the inconsistency of database state.
(A) Atomicity (B) Consistency

Isolation (D) Durability

Of the following data structures, which has a Last In First Out ordering?
In other words, the one that came in last will be the first to be popped

(A) Queue Stack
(C) Vector (D) Array List

Which of the following selector in CSS is used to select the elements that do
not match the selectors?

(A) :!selector not selector

(C) :empty selector (D) None of the above

A distributed network configuration in which all data/information pass
through a central computer 1s

(A) Bus network @) Star network
(C) Ring network (D) Point-to-point network
File shrinks the size of a file so it requires less storage space.
Compression (B) Defragmenting
(C) Synthesizing (D) Scanning
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131.

132.

133.

134.

135.

136.

A hash function guarantees the integrity of a message. It guarantees that the
message has not been

(A) Replaced (B) Overviewed

Changed (D) Violated

Which of the following refers to internal software equality?
(A) Scalability Reusability
(C) Reliability (D) Usability

Which of the following is an incorrect activity for the configuration
management of a software system?
(A) Change management (B) System management

Internship management (D) Version management

The term "TCL" stands for

(A) Ternary Control Language

(B) Transmission Control Language
(C) Transaction Central Language

Transaction Control Language

Which of the following is not part of the Test document?
(A) Test Case
(B) Requirements Traceability Matrix [RTM]
(C) Test strategy
Project Initiation Note [PIN]

Which of the following is a configuration item?
(A) Design & Test specification () Source code

(C) Log information All of the above
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137. How to select the elements with the class name ‘example’?

(A) example (B) #example

.example (D) Class example

138. How can you open a link in a new browser window?
(A) <a href ="url" target = "new">
<a href = "url" target="_blank">
(C) <a href="url".new>

(D) <a href = "url" target ="open'">

139. Which of the following statements is false about event handlers in JavaScript?
(A) They can be included with input tags
They can be associated with end of file processing for a database
) application
(C) They can be included with the form tag

(D) They are generally used to call functions when triggered

140. Which character is used in Python to make a single line comment?

A / B) //

@# D) !

141. How many layers are there in the OSI reference model of networking?

A) 5 ®B) 6
@ 7 D) 8
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142. Which one of the following is not a maintenance model?
. Waterfall model (B) Reuse-oriented model

(C) Iterative enhancement model (D) Quick fix model

143. The SQL used by front-end application programs to request data from the

DBMS is called
DML (B) DDL
(C) VDL (D) SDL

144. We indicate roles in E-R diagrams by labeling the lines that connect

to
(A) Diamond, Diamond (B) Rectangle, Diamond
(C) Rectangle, Rectangle Diamond, Rectangle

145. Which two features of object-oriented programming are the same?
(A) Abstraction and Polymorphism features are the same
(B) Inheritance and Encapsulation features are the same

(C) Encapsulation and Polymorphism features are the same

Encapsulation and Abstraction features are the same

146. Writing and maintaining unit tests can be made faster by using

Parameterized tests (B) Traditional unit tests

(C) Test invariant conditions (D) Closed methods
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147. Which of the following is true of nosql databases?
(A)  They do not support very large amounts of sparse data
(B) They do not support distributed database architectures
@ They are not based on the relational model
(D) They are geared toward transaction consistency rather

performance

148. Which of the following method is only used to update resource?
(A) POST (B) PUT
@ PATCH D) All the above

149. Which html tag allows the user to Zoom in or out in web page?

User-scalable (B) Min-scalable

(C) Max-scalable (D) Initial-scalable

150. MS Excel Lookup syntax

than

(A)  Lookup Value, Table Array, Column to Return, Approximate Match

[True/False]
(B) Lookup Value, Lookup Array, Approximate Match [True/False]
@ Lookup Value, Lookup Array, Value to Return Array

(D) Lookup Value, Table Array, Column to Return
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7. Each question has four responses ®@ © and (@. You have to select ONLY ONE correct
answer in the OMR Answer Sheet. In case you feel that there are more than one correct
answers, mark only the answer which you consider the most appropriate. In any case, choose
ONLY ONE answer for each question. E.g., If for any question, B is the correct answer, you
have to shade as follows:

@000

8.  The Question Booklet is printed in four series viz., (A), (B), (C) & (D). The name of the series
is printed on the top of the Question Booklet. Mark and shade your correct Question Booklet
series (A) / (B) / (C) / (D) carefully in the OMR answer sheet by darkening the appropriate
circle without fail. In case of any wrong entry of Booklet series or discrepancy in determining

the exact booklet series, then, in all cases your Answer Sheet will be invalidated.

9.  You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take the Question Booklet and the Answer Sheet out of the Examination Hall during the time
of examination. You are permitted to take the Question Booklet only after the Examination is

completed.
10. Do not write anything in the Question Booklet, except in the space provided for Rough work.

11. Failure to comply with any of the above instructions will render you liable for action or

penalty as the High Court may decide at its discretion.

12. Using Whitener / Blade / Eraser or any kind of tampering to change the answers on
OMR answer sheet will lead to invalidation.

13. PART C is set in both English and Tamil. If there is any inconsistency between English and

Tamil version, English version shall prevail.
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